

Pay Estimate Created Date: July 1, 2024

Progress Estimate N 1	umber	Contract ID Prime Contractor	240315-D02 Emery Sapp & S				Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,123,813.44 \$0.00 \$2,123,813.44
Approval Date								By User
July 1, 2024			Generated and A	pproved (a	nd should be cons	idered Draft) at	the Project Office Level by	strawt1
July 1, 2024		Rev	viewed and Appro	ved (and sh	ould be considere	ed Draft) at the I	Resident Engineer Level by	gabelj3
July 2, 2024			F	Reviewed a	nd Approved at the	e Central Office	Controllers Office Level by	ramses1
Original Completion	n Date	Current Com	pletion Date	Actua	I Completion Dat	te %	of Current Contract Amoun	t Complete
December 1, 202	24	Decembe	er 1, 2024				0.36%	
	Contrac	t Informational Dat	tes		Miles	tones		
Date Description	Original	Completion Date	Current Comple	etion Date	No Milestones E	Exist for Contrac	zt	
Acceptance Date								
Awarded Date	April 3, 2	2024	April 3, 2024					
Letting Date	March 1	5, 2024	March 15, 2024					
Notice to Proceed Date	May 6, 2	2024	May 6, 2024					
Open to Traffic Date								
Work Began Date								

Contract Total Pay For Estimate No. 1				
	This Estimate	Previous	To Date	
240315-D02				
Total Posted Items Pay	\$7,547.00	\$0.00	\$7,547.00	
Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		<mark>\$0.00</mark>	\$7,547.00	
Contract Total Payable This Estimate:	\$7,547.00			

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3480	0120	6161005	CONSTRUCTION SIGNS	SQFT	\$13.000	144	\$1,872.00
	0140	6161025	CHANNELIZER (TRIM LINE)	EA	\$27.000	60	\$1,620.00
	0150	6161030	TYPE III MOVEABLE BARRICADE	EA	\$295.000	3	\$885.00
	0160	6161040	FLASHING ARROW PANEL	EA	\$1,585.000	2	\$3,170.00
Project J5S3480	- Total						\$7,547.00
Overall - Total							\$7,547.00

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3480	0140	CHANNELIZER (TRIM LINE)	Material			-60	\$27.00	(\$1,620.00)
	0140	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user strawt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	60	\$27.00	\$1,620.00
	0150	TYPE III MOVEABLE BARRICADE	Material			-3	\$295.00	(\$885.00)
	0150	TYPE III MOVEABLE BARRICADE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user strawt1	3	\$295.00	\$885.00



Pay Estimate Created Date: July 1, 2024

Progre	ess Est	imate Number 1	Contract ID Prime Contr	24031 actor Emery		Pay Period Start See NTP Date Origin s, Inc. Pay Period End June 30, 2024 Net Ch Currer		Amount \$0.	123,813.44 00 123,813.44
Project Number	Line No.	Item Desc	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3480						overridding Payment Estimate Exception 2 on the current Payment Estimate.			
	0160	FLASHING AR	ROW PANEL	Material			-2	\$1,585.00	(\$3,170.00)
	0160	FLASHING AR	ROW PANEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	2	\$1,585.00	\$3,170.00
Total									\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Inform	nation
Project Number	Federal Proj. Number	Description	Route	County			Location of Work
J5S3480	FAS S403(8)	2 Bridge rehabilitations	LP 44	PULASKI	over Route I-44 in St. Rol	berts	
Totals by J	Job Numb	ers					
J5S3480		ed Item Pay s Item Adjustmo		Item Pay	This Estimate \$7,547.00 \$0.00 \$7,547.00	Previous \$0.00 \$0.00 \$0.00	To Date \$7,547.00 \$0.00 \$7,547.00
	Liqu	ntive acentive idated Damages r Contract Adjus			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3480, Item 6161025, Project Item Line Number 0140, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Pending QC/QA Report	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3480, Item 6161030, Project Item Line Number 0150, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Pending QC/QA Report	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3480, Item 6161040, Project Item Line Number 0160, Material Set 616104096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Pending QC/QA Report	strawt1	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Total Party An terms / An Eschnades (including this Eschnader)

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
0315-D02	J5S3480	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$34,350.00	\$0
		0001	0020	2039907	MISC.CLASS A EXCAVATION	178.00	0.00	178.00	CUYD	0.00	\$25.00	\$0
		0001	0030	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	0.00	\$1,500.00	\$0
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	90.70	0.00	90.70	TONS	0.00	\$385.00	\$0
		0001	0050	4071005	TACK COAT	85.00	0.00	85.00	GAL	0.00	\$5.50	\$0
		0001	0060	5041000	CONCRETE APPROACH PAVEMENT	200.00	0.00	200.00	SQYD	0.00	\$325.00	\$0
		0001	0070	6113020	FURNISHING TYPE 2 ROCK BLANKET	178.00	0.00	178.00	CUYD	0.00	\$70.00	\$0
		0001	0080	6113040	PLACING TYPE 2 ROCK BLANKET	178.00	0.00	178.00	CUYD	0.00	\$30.00	\$0
		0001	0090	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	1.00	0.00	1.00	EA	0.00	\$2,700.00	\$0
		0001	0100	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	0.00	\$1,300.00	\$0
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4.00	EA	0.00	\$3,353.00	\$
		0001	0120	6161005	CONSTRUCTION SIGNS	693.00	0.00	693.00	SQFT	144.00	\$13.00	\$1,872
		0001	0130	6161010	RELOCATED SIGNS	725.00	0.00	725.00	SQFT	0.00	\$12.00	\$
		0001	0140	6161025	CHANNELIZER (TRIM LINE)	60.00	0.00	60.00	EA	60.00	\$27.00	\$1,62
		0001	0150	6161030	TYPE III MOVEABLE BARRICADE	3.00	0.00	3.00	EA	3.00	\$295.00	\$88
		0001	0160	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	2.00	\$1,585.00	\$3,17
		0001	0170	6161055	SEQUENTIAL FLASHING WARNING LIGHT	6.00	0.00	6.00	EA	0.00	\$244.00	9
		0001	0180	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	830.00	0.00	830.00	LF	0.00	\$25.00	\$
		0001	0190	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	2,390.00	0.00	2,390.00	LF	0.00	\$10.00	\$
		0001	0200	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$210,000.00	\$
		0001	0210	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,190.00	0.00	2,190.00	LF	0.00	\$2.15	\$
		0001	0220	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,896.00	0.00	1,896.00	LF	0.00	\$3.20	\$
		0001	0230	6207001	PAVEMENT MARKING REMOVAL	2,780.00	0.00	2,780.00	LF	0.00	\$2.15	\$
		0001	0240	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	2,838.00	0.00	2,838.00	LF	0.00	\$2.15	ş
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	839.00	0.00	839.00	SQYD	0.00	\$25.00	ę
		0001	0260	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	331.00	0.00	331.00	SQYD	0.00	\$7.50	:
		0001	0270	8061019	SILT FENCE	369.00	0.00	369.00	LF	0.00	\$3.50	:
		0010	0280	6061060	MGS GUARDRAIL	300.00	0.00	300.00	LF	0.00	\$39.00	:
		0010	0290	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULARINO CURB)	4.00	0.00	4.00	EA	0.00	\$4,500.00	\$
		0010	0300	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,900.00	;
		0070	0310	2061000	CLASS 1 EXCAVATION	160.00	0.00	160.00	CUYD	0.00	\$51.00	ş
		0070	0320	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	0.00	\$10,000.00	ę
		0070	0330	2161001	TOTAL SURFACE HYDRO DEMOLITION	1,374.00	0.00	1,374.00	SQYD	0.00	\$80.00	ę
		0070	0340	2161502	REMOVAL OF CONCRETE WEARING SURFACE	12,362.00	0.00	12,362.00	SQFT	0.00	\$4.00	ę
		0070	0350	2161503	REMOVAL OF EXISTING DECK REPAIR	150.00	0.00	150.00	SQFT	0.00	\$50.00	ę
		0070	0360	5031010A	BRIDGE APPROACH SLAB (MAJOR)	137.00	0.00	137.00	SQYD	0.00	\$480.00	
		0070	0370	5050004	SUPPLEMENTARY WEARING SURFACE MATERIAL	10.00	0.00	10.00	CY	0.00	\$700.00	
		0070	0380	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	1,374.00	0.00	1,374.00	SQYD	0.00	\$179.50	
		0070	0390	7031004	DIAMOND GRINDING	1,374.00	0.00	1,374.00	SQYD	0.00	\$12.75	\$
		0070	0400	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	50.00	0.00	50.00	SQFT	0.00	\$115.00	\$
		0070	0410	7040103	SUPERSTRUCTURE REPAIR (UNFORMED)	25.00	0.00	25.00	SQFT	0.00	\$310.00	
		0070	0420	7040104	HALF-SOLE REPAIR	2,000.00	0.00	2,000.00	SQFT	0.00	\$59.00	
		0070 0430 7040106 FULL DEPTH REPAIR				500.00	0.00	500.00	SQFT	0.00	\$178.00	
		0070	0440	7040113	CLEANING AND EPOXY COATING	4,800.00	0.00	4,800.00	SQFT	0.00	\$4.50	S
		0070	0450	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS	1.00	0.00	1.00	LS	0.00	\$5,500.00	



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0315-D02	J5S3480				(EPOXY)							
		0070	0460	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$5,141.01	\$0.00
		0071	0470	2061000	CLASS 1 EXCAVATION	160.00	0.00	160.00	CUYD	0.00	\$51.00	\$0.00
		0071	0480	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0071	0490	2161001	TOTAL SURFACE HYDRO DEMOLITION	1,374.00	0.00	1,374.00	SQYD	0.00	\$80.00	\$0.00
		0071	0500	2161502	REMOVAL OF CONCRETE WEARING SURFACE	12,362.00	0.00	12,362.00	SQFT	0.00	\$4.00	\$0.00
		0071	0510	2161503	REMOVAL OF EXISTING DECK REPAIR	150.00	0.00	150.00	SQFT	0.00	\$50.00	\$0.00
		0071	0520	5031010A	BRIDGE APPROACH SLAB (MAJOR)	137.00	0.00	137.00	SQYD	0.00	\$480.00	\$0.00
		0071	0530	5050004	SUPPLEMENTARY WEARING SURFACE MATERIAL	10.00	0.00	10.00	CY	0.00	\$700.00	\$0.00
		0071	0540	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	1,374.00	0.00	1,374.00	SQYD	0.00	\$179.50	\$0.00
		0071	0550	7031004	DIAMOND GRINDING	1,374.00	0.00	1,374.00	SQYD	0.00	\$12.75	\$0.00
		0071	0560	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	50.00	0.00	50.00	SQFT	0.00	\$133.00	\$0.00
		0071	0570	7040103	SUPERSTRUCTURE REPAIR (UNFORMED)	25.00	0.00	25.00	SQFT	0.00	\$310.00	\$0.00
		0071	0580	7040104	HALF-SOLE REPAIR	2,000.00	0.00	2,000.00	SQFT	0.00	\$59.00	\$0.00
		0071	0590	7040106	FULL DEPTH REPAIR	500.00	0.00	500.00	SQFT	0.00	\$178.00	\$0.00
		0071	0600	7040113	CLEANING AND EPOXY COATING	4,800.00	0.00	4,800.00	SQFT	0.00	\$4.50	\$0.00
		0071	0610	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$5,500.00	\$0.00
		0071	0620	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$5,141.01	\$0.00
	Project J	5S3480 - To	otal Value	Posted to D	ate as of Report Generated Date							\$7,547.00
0315-D02 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$7,547.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code			Description	DWR Date					Location				Offset/ Distance	To Station/ Log Mile	Offset/ Distance		Comments	
0120	6161005	CONS	TRUCTION SIG	NS	6/24/24	7/1/24	144.00	SQFT	See Tem	plate									
0140	6161025	CHAN	NELIZER (TRIM	LINE)	6/24/24	7/1/24	60.00	EA			p LM 1.465 p LM 4.090								
0150	6161030	TYPE	III MOVEABLE E	ARRICADE	6/24/24	7/1/24	3.00	EA	I-44 Loop	o Various I	ocations.								
0160	6161040	FLASH	ING ARROW P	ANEL	6/24/24	7/1/24	2.00	EA			op at LM 1. op at LM 3.9								
he infor	mation b	elow	this line are	details for Construction S	igns (if a	pplicable	<u>e).</u>												
Project	Line Num	iber	DWR Date	Total Quantity Posted For DWF	R Date		Sign Inform	ation		Station	Log Mile	Location	Num	ber of Items	SF Ea	ach Sign	Special Sign	SF Each Special Sign	Total SF to Post
15S3480	0120		June 24, 2024	144		NO20-1 4 ROAD/BRID	48x48 16.0 IGE/RAMP		AHEAD		1.018	WB I-44 Loop Both Sides	2.00		16.00				32.00
					F	NO20-5 4 RIGHT/CEN AHEAD			CLOSED		1.132	WB I-44 Loop Both Sides	2.00		16.00				32.00
						NO4-1aR ARROW SY		.00 MER	RGE		1.240	WB I-44 Loop Left Side	1.00		16.00				16.0
					F	NO20-5 4 RIGHT/CEN AHEAD			LOSED		3.817	EB I-44 Loop Right Side	1.00		16.00				16.00
						NO20-1 4 ROAD/BRID	18x48 16.0 IGE/RAMP		AHEAD		3.645	EB I-44 Loop Right Side	1.00		16.00				16.00
					1	NO20-5 4 RIGHT/CEN AHEAD			LOSED		3.780	EB I-44 Loop Right Side	1.00		16.00				16.00
					1	WO20-5 48x48 16.00 RIGHT/CENTER/LEFT LANE CL AHEAD			LOSED		1.240	WB I-44 Loop Right Side	1.00		16.00				16.00
	0120 - Tot			1								1			1				14



Line Item Adjustments by Estimate

Jul 3, 2024

Contract ID: 240315-D02

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
53480	0140	CHANNELIZER (TRIM LINE)	Material		1	Jul 1, 2024	SYSTEM	\$1,620.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user strawt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Jul 1, 2024	SYSTEM	(\$1,620.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0140 -	Total						\$0.00	
	0150	TYPE III MOVEABLE BARRICADE	Material		1	Jul 1, 2024	SYSTEM	\$885.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user strawt1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Jul 1, 2024	SYSTEM	(\$885.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0150 -	Total						\$0.00	
	0160	FLASHING ARROW PANEL	Material		1	Jul 1, 2024	SYSTEM	\$3,170.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Jul 1, 2024	SYSTEM	(\$3,170.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0160 -	Total						\$0.00	
53480 -	- Total							\$0.00	
erall - [·]	Total							\$0.00	



There are no contract adjustments to display for this contract.